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SA NL Biological Science

Group Number : 1

Group Id : 39226637

Group Maximum Duration : 0

Group Minimum Duration : 150

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 80
Section 1

Section Id : 392266187

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 10

Maximum Instruction Time : 0

Sub-Section Number :

1



Sub-Section Id : 392266187
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3922665921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct pairs

a. June 21 - International Yoga day

=

August 29 National Sports day
January 12 - National Youth day

November 20

0% zdfodo 15003506,

~ 0

National Voters day

5

a. 2y 21 - (P%oS @ Eié'ge‘_@’rj;jo
b. esiivy 29 - &S l\._éaﬁ 6503'59:6“);50
e

C. 2303558 12 - =HeH ShosEs 635%&33.5@
d. S50t 20 - =da%H RNt a;a%;s“);;ao
1 A.C
2 a. b, c
3 b.d
4. b.c.d

Options :

1% ]

2.9 2

3% 3

4, % 4

Question Number : 2 Question Id : 3922665922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Pacific Ocean is named by

1. Columbus

12

Magellan
Amerigo Vespucci
4. Leif Erikson
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 3 Question Id : 3922665923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct pairs regarding Author and Book

a. K.M. Munshi - Ja1 Somanath

b. Subramanya Bharathi - Styardhi Prakash

Annie Besant - Todays India
d. Alex Haley - The Roots : The Saga of an American
Family

SSod - (Nogrlds K020000D JTS sdesn 8otk

a. 3.J0.3w01 - BSOS

b. Rolpdoesg 288 - ¥R (95°F

C. eddHoS - E0eR 3085
d. 353 . rfbtire%: S D eh S 9RdES
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1 a. d
3 b.c
3. b. d
4. a.b.d
Options :
1.¥ 1
2. % 2
3.% 3
4. % 4

Question Number : 4 Question Id : 3922665924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Shanti Swarup Bhatnagar prize 1s awarded to
1. Young players in the field of Cricket

2 Young Social workers

(d

Young writers in Indian Languages

4. Young Scientists for promoting Science and
Technology
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Options :
1. % 1
2.% 2
3.%3
4.4 4

Question Number : 5 Question Id : 3922665925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The present Chairman of Indian Space Research Organization
(ISRO) 1s

1. Dr. Somnath

2. Dr. Kasturi Rangan
3. Dr. V. Narayanan
4. Dr. Sivan
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2 . 588 SoKS
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3. = 3. ToShms
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4. 3

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 6 Question Id : 3922665926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Drakensberg mountains are located in
1. Asia

2. Europe

North America

4. Affrica
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4. &3@:5"

Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 7 Question Id : 3922665927 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Poet Subramanya Bharathi belongs to this state
1. Andhra Pradesh

2. Assam

Karmataka

4. Tanmul Nadu
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Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 8 Question Id : 3922665928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct pairs

a. Dermatology - Study of rivers

b. Entomology - Study of insects

ol Orology - Study of mountains
d. Ichthyology - Study of fish
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O zdieod aSleleinlel
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b. dobrsred
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d  33csrod - Do egiEhso
1. ab.c
2 b.c.d
3. b.d
4. c.d

Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 9 Question Id : 3922665929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Jalian Wala Bagh massacre took place in this city

1 Ranchi
Z. Amritsar
3. Madurai

4, Chandigarh
28d08 Trererl &acsshes BoY S B3 SKE0S° =8R00

1. or09)

2. @5&3@5&5
3. G0

4.  So&KE
Options :

1. % 1

2.¥2

3. % 3

4, % 4

Question Number : 10 Question Id : 3922665930 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct pairs

a. Garden city of India - Bangalore
b. Pittsburg of India - Jamshedpur
L Scotland of the East - Meghalaya
d. Sugar bowl of India - Ahmadabad
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05 2diesd ro8osod

8. T3S 8 & 308050 - DoKX
b. Eaé%eag esh goddic - mon&rd
C. 3“35@05 sy & éea - oPsredchH
d.  nd 86 &5 g0dcr - aﬁe&mmﬁ
1. a.b.c
7.4 b.c.d
3 a, d
4, c,d

Options :

1.¢ 1

2.% 2

3.%3

4. % 4

Question Number : 11 Question Id : 3922665931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Amount given (per year) to small and marginal farmers under
Central Government scheme. Pradhan Mantri Kisan Samman
Nidhi is

1. Rs. 4.000/-
2 Rs. 5.000/-
3. Rs. 6.000/-

4. Rs.10.000/-
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Options :
1. %1
2. % 2
3.¥3
4. % 4

. 10000/-

Question Number : 12 Question Id : 3922665932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘Maakoddi telladora tanamu ... " song was written by
i Chilakamarthi Lakshmi Narasimham

2. Gurajada Apparao

3 Kandukuri Veeresalingam Panthulu

4. Garimella Satyanarayana
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Options :
1. % 1
2. %2
3. % 3
4.9 4

Question Number : 13 Question Id : 3922665933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the sport with its mismatched cup/trophy
1. Basketball
2. Chess

3. Athletics

SM Arjuna Raja Trophy

Ramanuja Trophy

Federation Cup
Uber Cup

4. Shuttle Badminton
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Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 14 Question Id : 3922665934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct pair
1. Chennai - Central Tobacco Research Institute

2. Secunderabad

Center for Ecological Science

3. Bengaluru - Raman Research Institute
4. Bhuvaneswar - Plasma Research Center
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Options :

1. %1

2. %2

3.¢3

4. % 4

Question Number : 15 Question Id : 3922665935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Atomic tests were conducted at
1. Pokhran, Rajasthan

2. Madurai, Tamil Nadu

3 Ranchi. Jarkhand

4, Puri. Odisha
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Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 16 Question Id : 3922665936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following cities with their stadiums

1, New Delli a. Indraprastha
1. Kolkata b. Wankhede
111. Chennai £ Eden Garden
iv.  Mumbai d. Chepak
208 Shores), T8 @m@oﬁmm@'ﬁ 23R I0A.
IL S&e;)_) a. 3088
ii. gfoxar b. TOPE
iii. 3P C. B30 O
Ca

iv. 50002500 d. SarE
1. i—a ii-—b si—c w-d
3 1—C. li—d m-b.w-4
3 1—¢. H—-b m—-a w-d
4, 1—a —c. m—d w->b

Options :

1. % |

2. % 2

3% 3

4.9 4

Question Number : 17 Question Id : 3922665937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This revolutionary assassinated the British officer John
Saunders for ordering lathi charge on Lala Lajapathi Roy

1. Bhagat Singh
2 Alluri Sitaramaraju
Subhash Chandra Bose

4, Madanlal Dhingra
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Options :
1.v1
2. % 2
3.% 3
4, % 4

Question Number : 18 Question Id : 3922665938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following

i, Brahma Samayj a. Vinoba Bhave

ii. Theosophical Society b. Raja Ram Mohan Roy
iii.  Arya Samaj c. Helina Blavetsky

iv.  Bhoodan Yagnam d. Dayananda Swaraswathi
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1. i—b ui—-d m-aw-c
2. i—id: i—¢: m—-b w-a

i—b, 11—c, ni—d,iv-a

fd

4. i—b, 1—d, mi—c, iv-a

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 19 Question Id : 3922665939 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find out the incorrect pair

1. Dr. S. Radha Krishnan The second President of India

The first President of
Independent India

2. Shri C. Rajgopalachari

3: Shr1 V'V Giri - The fourth President of
India
4, Dr. Jakir Hussain - The third President of India
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Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 20 Question Id : 3922665940 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Bronze medal winner of Gymnastics World Cup Walt event
conducted at Antalya.Turkey

1. Manisha Banwala
2, Damini Singh
Smruthi Mandhana

4, Pranathi Naik
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Options :

1. % 1

2.% 2

3.% 3

4.¥ 4

Section 2

Section Id : 392266188
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266188
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922665941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This proposal 1s NOT made by NEP — 2020 about Teacher
Education

1. Launching of 4 year integrated B.Ed. course.

2, Teachers’ salaries should be as per their seniority alone.

3. Promotions of teachers based on their merit and
performance.

4. Establishment of gender inclusive fund for girls’
education.
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Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 22 Question Id : 3922665942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Full form of INSPIRE
INSPIRE %8 87720

1 Indian National Scheme for Promoting Innovation
Research and Education
2. Innovation in Science Pursuit for Inspired Research
3. Initiation Scheme for Promotion of Research and
Education
4. Initiative for Scientific Pursuits and Research in
Education
Options :
1. % ]
2.4 2
3.% 3
4. % 4

Question Number : 23 Question Id : 3922665943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The RTT Act — 2005 says that if human rights are violated.
information should be given before these many days of
application.

RTI 5830 — 2005 (95750, 55 o0 SQ0R085 SOASYE
RITTOR) SR ©08S 3 Swe SR 35

1. 30
Z 10
3. 25
4, 45

Options :

1. % 1

2. % 2

3. % 3

4.¥ 4



Question Number : 24 Question Id : 3922665944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Article 4 of the Universal Declaration of Human Rights is
related to

E Death punishment

2 Abolition of dowry

L |

Prohibition of slavery

4. Prohibition of child marriages

KRS P PO (FEOT &' 435 Q5 B3
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Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 25 Question Id : 3922665945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Article 350 of the Indian Constitution mentions about

1. Development of Hindi Language
2. Instruction in Mother tongue

3. Education of Minorities

4, Free and compulsory education

S TergoRoS 3505 @80 B KH80d BB
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4. &), 3}62305.‘5 33{:55
Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 26 Question Id : 3922665946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Comumission that recommended to implement the
recommendation of Radha Krishnan Commission and
Sr1 Prakash Commission on moral education.

1. Kothari Commission

2. Secondary Education Commission

3. Eswar Bhai Patel Committee

4. Janardhan Reddy Committee
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Options :
1.¥ 1
2. % 2
3.% 3
4. % 4

Question Number : 27 Question Id : 3922665947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Educational aims proposed by Kothari Commission

a. Education for modernization

e

Education for National integration

Education for personality development

2

Education for leadership training
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1. c.d
2 a.b
3. a. d
4, b.d
Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 28 Question Id : 3922665948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify correct matched pair
PO BEHOAT I 7O0W0G.

a. 1961 — NCERT
b. 1982 — CIET
o 1973 — NCTE
d. 1985 — SIET
I a.b.c
2. a.b.c.d
3 b.c.d
4, b.d

Options :

1. % 1

2.2

3. % 3

4. % 4

Question Number : 29 Question Id : 3922665949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Educational period in Buddist Education system

i 8 years

2. 10 years
3. 11 years
4. 12 years

TG %mﬂégjwsﬁoé's AgErgd S0
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3. 11 ?{50&3@35@:

4, 12 mc;:ién}crm

Options :
1. % 1



2. %2
3.% 3
4.9 4

Question Number : 30 Question Id : 3922665950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Sargent Committee - 1944 made these suggestions

A) Establishment of UGC
B)  Establishment of Employment Exchanges

C)  Free and Compulsory Primary Education should be
provided to age group of 6-14

D)  Incorporate cottage ndustries in education
oS K - 1944 208 BrSSes BHOD.

A) G500.23.2). 3{;3:013“@

B) Qo%o%ﬁ:oé?&%ogm FHoTd.

C)  6-14 Doseyore 03 &des KJr:‘:’ajoiS (P EE
%ﬁsaﬁz 0809,

D) H& $oFELem 5gS” grro Saird.

1. A.D

2 A.B.D

3 A B.C

4. B.C.ID
Options :
1. % 1
2. %)
3.3
4, % 4

Section 3

Section Id : 392266189
Section Number : 3

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266189
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3922665951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Srinivasa Ramanujan is a genius in Maths. But he is not so
good at the English language ability. The reason may be stated
like this:

1. Inter Individual Differences

2 Intra Individual Differences
3. Individual Differences
4. Extrinsic Differences
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 32 Question Id : 3922665952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Leadership qualities are closely related to this type of
intelligence

s Mechanical intelligence
2, Abstract intelligence

3. Social intelligence

4. Spiritual intelligence
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Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 33 Question Id : 3922665953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A and B are 10 years old twins and their mental ages are 10
and 12 respectively. Compare their 1Qs (Intelligence
quotients)

1. A’s IQ level 1s more than B

2. B’s IQ level 1s more than A

3. IQ 1s same 1n both

4, Data 1s msufficient
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Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 34 Question Id : 3922665954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A boy learnt Sanskrit language well. Later, he could learn
Hindi with ease. Here, the transfer of learning is known as

L. Positive transfer
2, Negative transfer
3. Zero transfer

4, Bilateral transfer
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Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 35 Question Id : 3922665955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A gir]l learnt a poem in half an hour. After a week she was
asked to relearn the same. This time she took 15 minutes to
relearn. Her savings score 1S
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i 50%
2, 60%
3 70%
4, 45%

Options :

1.1

2. % 2

3.% 3

4. % 4

Question Number : 36 Question Id : 3922665956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following Authors with their Books

1, Ebbinghaus a. The Work of Digestive Glands
ii. Sigmund Freud  b. Art of Thought

ii.  Graham Wallas  c¢. On Memory

iv.  Ivan Pavlov d. Interpretation of Dreams

308 SSondess 30 (Hogros® maddsod.

i JDNORTS a. & 56, &b §BRS Tok&)
ii.  Kyo& Frowé b. «f b ed

i, (e b C. e Jood

iv. 338 >38°S d R006ESS &5 (G0)
1. 1—c. n1—d. m—b.iv-a

2. 1—c. n1—d. m—a.iv-b

i—-d, 1—c, Mi—a,iv-b

fad

4. i—d, 11—-b, mi—c, iv-a

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 37 Question Id : 3922665957 Question Type : MCQ Option Shuffling : No
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The educational implication of Thormdike’s Law of Exercise 1s

8 Encourages rewards

2 Encourages motivation
g Encourages punishment
4. Encourages homework
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A student was asked the reason for his failure in the
examination. He defended himself by questioning does he get
any job by passing the examination? The defense mechanism
used by him is

1. Repression

i Fantasy

¥ Displacement
4. Rationalization
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An example of a Non-Projective Technique
L Rating Scale

2. Rorschach Ink Blot Test

Thematic Apperception Test

b

e

Children’s Apperception Test
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One of the following is NOT correct

1. Skinner - Operant Conditioning

2 Ivan Pavlov - Classical Conditioning
3. Kohler - Learning by Observation

4, Bruner - Theory of Instruction
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1. %1
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Section 4

Section Id : 392266190
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80

Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266190
Question Shuffling Allowed : Yes
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Expand ESRD
L. End stage Renal Disorder
2 End stage Renal Disease

[N

Early stage Renal Disorder
4. Entry stage Renal Disease
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3. % 3
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The world organization which that found the river Ganga as
one of the ten most endangered rivers in the world is
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Majority of the people, threatened by Global warming are
living in this continent

. Affrica

2. Europe

3. Asia

4, South America
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The odd one with regard to chlorofluorocarbons emission

;8 Refrigerators

r

Water Geysers

fsd

Aerosol sprays

4, Air conditioners
555265 95235@; Se Do HHZoIO
2 (o ] .
L 3p=ded
2. 5 Rty
Lo}

3. !3:5'5355[?\30]&:3
4. dawns go&m%

Options :
1. % 1
2.92
3. % 3
4. % 4

Question Number : 45 Question Id : 3922665965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find the correct statement of waste water treatment

L. The sludge removed water is called Brackish water
2. Scum is heavy settled matter

3. To disinfect water, chemical like chlorine are added
4. Sludge 1s decomposed by the aerobic bacteria
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The consequences of deforestation are

1, Increase in temperature

ii. Decrease in rainfall

iii.  Decrease the level of CO, in atmosphere
iv.  Lowering of ground water levels
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Find the mismatched one

1 Bison - Endemic
2 Wild Buffalo - Endangered
3. Dinosaurs - Endangered
4, Flving squirrel - Endemic
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The plants and animals in this reserve are similar to the plants
and animals of upper Himalayas and lower Western Ghats.

L. Kaziranga National Park
2, Pachmarhi Biosphere Reserve

Grate Nicobar Biosphere Reserve

[ ]

4. Bharatpur Tiger Reserve
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Sustainable forestry methods among the following

a. Using low impact logging practices

b. Practicing the methods that helps a tress to propagate
naturally

C. Prohibition of cutting of large trees
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The position of an animal in the food web, its eating habits and
its mode of life is denoted by

E: Tropic level

2 Niche

3 Habitat

4, Energy level
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The effective Biological control methods adopted
to control pests are

1) Introducing Natural predators
i) Sterility of Males

iil)  Crop rotation

iv)  Crop holiday
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Biomass is generated during the process of

1. Respiration

2 Photosynthesis
3 Transpiration
4. Reproduction
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The tissue that increases the girth of the stem 1s
1. Apical meristem

2,8 Lateral meristem

(sl

Intercalary meristem
4. Parenchyma
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Plant that gives scopolamine alkaloid is
1. Pepaver somniferum

2 Datura stramonium

(8]

Cinchona officinalis
4. Nicotiana tobacum
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Identify the mismatched one from the following
L. Surface feeder - Catla

2 Bottom feeder Mrugal

Peneaus monodon
4. Marine fish - Mullets
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Identify the crops grown between the months of October and
March

1) Ground nut
11) Linseed

1)  Mustard
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The size of the smallest bacteria i1s

1. 0.1 —0.5 micrometers

12

0.5 — 1.0 micrometers
0.01 — 0.05 micrometer

4. 0.001 —0.005 micrometer
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Identify the correct pairs

a. Louis Pasteur
b. Alexander Fleming
Edward Jenner

C
d. Robert Koch
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Small pox vaccine
Penicillin
Fermentation

Bacillus Anthracis



The viral diseases are
1) Influenza

1) Tuberculosis
1)  Polio

iv)  Typhoid

11) ¥a
L)
i) FoE
iv) 8BFroné
1. 1. 11, 111
2 11. 111. 1V
3 1. 1v
4. 1. 111
Options :
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The tissue that fills the spaces in the organs
1. Bone
2, Adipose tissue

Areolar tissue
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4. Ligament

ST @oécrgﬁb@ess &G P9 (PDTOH VoD

1: adadn
2. AEFE E¥mvere0
3. NaS@rerd Emzreo

4. wHod oS0

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 61 Question Id : 3922665981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Plasma Membrane is made up of
i) Sugars

1) Proteins

1)  Cellulose

iv)  Lipids
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The *Black reaction’ a revolutionary method of staining
individual nerve and cell structures 1s created by

L Camillo Golgi

. Porter
3. Albert Von Kolliker
4, Thompson
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Choose -INCORRECT" statements regarding “parenchyma™
1) This 1s the most common ‘complex permanent tissue’

ii) It consists of relatively unspecialized cells with thin cell
walls.

i11) It have dead cells

iv)  In the tissue, cells are usually arranged loosely and
with Intercellular spaces between cells.
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Involuntary muscles are found in
I, Iris of an eye
ii. Uterus
iii.  Bronchi of lungs
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Statement (A): Lysosomes are membrane bound sacs filled

with digestive enzymes.
Statement (B): Digestive enzymes are secreted by
Smooth Endoplasmic Reticulum (SER)

I Statement ‘A’ and statement ‘B’ both true
2, Statement ‘A’ in true. statement ‘B’ false
3 Statement ‘A’ 1s false, statement ‘B’ true
4 Statement ‘A’ statement ‘B’ both are false
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Find the correct statements regarding fish

A Streamlined shape helps in movement

B. Slippery scales helps in protection

C. Slippery scales helps in easy movement
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Match the following

List -1 List -2
A.  Pivotal joint I Shoulder
B. Hinge joint I1. Head
€ Ball and Socket joint IMI. Neck joins the Head
D.  Fixed joint IV. Elbow
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The adaptations shown by a Deer to live in Grasslands 1s
A.  Ithas strong teeth for chewing hard plant stems

B. It has short ears to hear movements of predators

L The speed help them to run away from the predators
D.

The eyes on the side of its head allow it to look in all
directions for danger.
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Phenotypic ratio (9:3:3:1) of F, generation in a Dihybrid cross.
9 mdicates these

1. Round and yellow seeds

2. Wrinkled and green seeds
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Wrinkled and yellow seeds
4, Round and green seeds
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The 1sotope(s) used to calculate the age of fossils is

A Carbon

B. Uranium
94 Potassium
1. A.Band C
Z Only A

g, Only B

4. A and C Only
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The segments of Cingulum in mature earth worm are
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Find the correct statement

L Outside of the brain - Nerve axons. mnside - Nerve
cell body

2; Outside of the brain - White matter, inside - Gray
matter

(S ]

Outside of the Spinal cord - Gray matter. inside - White
matter

4. Outside of the Spinal cord - White matter, Inside - Gray
matter
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The embryonic membrane formed around the fetus which 1s
filled with fluid 1s

1; Allantois
Z. Chorion
3. Ammnion

4, Placenta
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In ‘Adolescence’ stage. initially
1. Boys grow faster than girls.

2, Girl grow faster than boys.

LS ]

Boys and girls grow equally.
4. There is no significant growth.
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The production of blood pigment haemoglobin 1s abnormally
low in this inherited disorder

L. Lymphoma
2. Thalassemia
3. Megaloblastic Anemia

4. Hemophilia
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The embryo sac of a flowering plants consists of
L. 8 cells. 7 nuclei
2. 7 cells. 8 nuclei

8 cells. 9 nuclel

[N

4. 9 cells. 8 nuclel
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Parthenogenesis is found in
1) Wasp

1) Planaria

i)  Lizard

1v)  Rotifers
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Identify the mismatched pair

1. Cytokinins - Stops shedding of leaves
2 Gibberellins - Promotes flowering

3 Auxins - Growth of Lateral buds
4, Abscisic Acid - Closing of stomata
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Sex hormones are secreted by

1. Pancreas

il. Ovaries

111. Testis

iv.  Thyroid gland
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The part of the brain responsible for the emotion, anger
1. Cerebellum

Z; Diencephalon

3 Mid brain

4. Medulla oblongata
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Identify the wrong match

1 Fishes - Ammonia
2, Birds - Urea

3! Humans - Urea

4, Snakes - Uric acid
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Identify the correct sentence

1. Vasopressin hormone 1s secreted only when
concentrated urine 1s to be expelled.

2. Vasopressin hormone is secreted when diluted urine is
to be expelled.

Deficiency of Vasopressin causes Diabates mellitus.

[ ]

e

The secretion of Vasopressin is high in rainy season.
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Identify the processes that are involved in transportation of
water 1n tall plants

I) Root pressure

I0) Transpiration

IIT) Guttation
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Stethoscope 1s invented by
i Rene Laennec

2. Galileo

[N

William Harvey

4. Marcello Malpighi
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Find the correct statement about blood capillaries

1 The veins are divided into extremely thin tubes called
capillaries.

2. The arteries are divided into extremely thin tubes called
capillaries

3. The capillaries join to form arteries.

4. The capillaries have thick walls and Valves
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Choose correct matching

a. Tracheal respiration 1. Dog
b. Bronchial respiration ii. Frog
& Cutaneous respiration iii.  Cockroach
d. Pulmonary respiration iv.  Fish
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EMP pathway is also known as

[ Electron transport
2 Pentose phosphate pathway
3 Glycolysis

4. Kreb’s cycle
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The total lung capacity of Human being 1s nearly (in m!/)
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The correct order in human nutrition
A)  Ingestion
B)  Absorption
C) Assimilation
D) Digestion
E)  Egestion
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The substance that is not involved in photosynthesis
1. Oxygen

2. Co,

3. Sun light

4, Chlorophyll
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Find the mismatched one

i Insectivorous - Cascuta
2. Heterotrophic - Man
3. Autotrophic - Mango

Bread mould

4. Saprophytic
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Statement(A) : Plants with green and tender stems are

called Herbs

Statement (B): Herbs are usually tall and may have many
branches.

L. Statement ‘A’ false; statement ‘B’ true

X Statement ‘A’ and statement ‘B’ both are true

Statement ‘A’ true; statement ‘B’ false

b

4. Statement ‘A’ and statement ‘B’ both are false
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Find mismatched pair from the following

1. Vitamin B; - Beriben
2 Vitamin C - Scurvy

3 Vitamin Bs - Anaemia
4. Vitamin B, - Pellagra
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The chemicals used to detect the presence of
proteins in food are

. Tincture 1odine and caustic soda
2. Tincture 10dine and copper sulphate
3. Copper sulphate and Silver nitrate

4. Copper sulphate and caustic soda
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During this stage of mitosis the centromeres of the
chromosomes splits and two chromatids separate.

1. Anaphase
2 Metaphase

Prophase

T4l

4. Telophase
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Phenotypic ratio of F; generation off springs produced by the
cross between a heterozygous tall plant and a dwarf plant
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Indian giant squirrel is endemic to this Biosphere Reserve
1. Pachmarhi Biosphere Reserve

2 Manas Biosphere Reserve

[N

Panna Biosphere Reserve
4. Seshachalam Biosphere Reserve
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Correct match among the following

1. Tannins - Pinus

2. Latex - Jatropha
3. Gums - Datura
4, Resin - Acassia
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Planting Gliricidia on field bunds is

A)  To strengthen the field bunds

B)  To make the soil nitrogen rich

C) To loosen the field bunds

D) To make the soil potassium rich
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Plants that produce haploid spores which develops into
Gametophyte on Germination is/are

1. Pteridophytes
7.1 Bryophytes

Bryophytes. Gymnosperms

LS ]

o

Pteridophytes & Bryophytes

o

20 2EDoT ESYB B, 6 IneTET BT

25

O A dzBome Eﬂ@;ﬁu)g 2[00 ?.uﬁb_m
1.  83&Tper
2. (BB per

3. (@B e, ﬂB:g‘z‘oﬁ}g 2
4. BOEPEF, (0B pe
Options :

1. % 1

2. % )

3. %3

4.9 4

Question Number : 102 Question Id : 3922666022 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The scientist who classified plant communities into
Hydrophytes. Mesophytes & Xerophytes based on water
dependence 1s

1. Eugen Warming
2. Ramdeo Misra
3. Odom

4. Charles Elton
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In aerobic respiration net gain of ATP per 1 mole glucose
050 DTS eSS 1 IS KTEE $r08 BE LY
ATP ex

1. 40 ATP
2 38 ATP
3. 36 ATP

4. 41 ATP



Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 104 Question Id : 3922666024 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ring arrangement of vascular bundles is a characteristic
feature of

1 Monocot stem
2. Monocot Root
3. Dicot stem

4. Dicot root
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The branch of Botany which deals with absorption of water
and minerals in plants 1s

1. Morphology

2, Physiology
3. Cytology
4, Phycology
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Taq DNA polymerase, which remains active even at high
temperature, induces denaturation of double stranded DNA, is
1solated from

1. Tetamus bacterium

2 Thermus aquaticus

fad

Thermophilus aquaticus

4. E. Coli
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The electrons that are removed from photosystem I are
replaced by
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In DNA the pitch of helix 1s
DNA &0 ¥yopo 1S (5045565550)
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Bioactive molecule. cyctosporin A, used as an immunosuppressive
agent in organ-transplant patients, 1s produced by

i Monascus purpureuts

2. Trichoderma polysporum
3. Saccharomyces cervisiae
4. Clostridium butylicum
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Transduction is seen in

1. Streptococciuis pneumoniae
2. Salmonella typhimurium
3. Beggiota

4. E. Coli
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The first transgenic cow. Rosie’s milk contains this human
protein

1. Alpha-lactalbumin

12

Non-essential Amino Acids

B lactalbumin
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4. y lactalbumin
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In Cori cycle. gluconeogenesis occurs in

b, Lungs
2, Liver
3. Kidney

Skeletal muscle

4.
558 Sedhods® @?@@mm 207 ©565050

i &2 0dden
2. SeeA00
3. ﬁm@ﬁaoﬁéo
4. oo ¥okso
&

Options :

1. % 1

2.4

3.% 3

4. % 4

Question Number : 113 Question Id : 3922666033 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



During pregnancy, due to hypothyroidism defective
development of growing baby leads to this disorder

1. Myxedema

g Cretiism

(sl

Exophtalmic goiter

4. Simple goiter
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The blood group that shows ‘Co-dominance’ is
1. Blood group A
2! Blood group AB

fad

Blood group B
4, Blood group O
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ELISA stands for

ELISA oS

B Enzyme Linked Immunosorbent Assay

2. Energy Linked Immunosorbent Assay

(S

Essential Liquid Immunosorbent Assay
4, Enzyme Linked Immunosorbent Analysis
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Dental formula for the ‘milk teeth” of children
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Connecting link between reptiles & birds

1. Archaeopteryx
2.7 Aptenodytes

3 Dromaeus

+. Struthio
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Nitrates present in the soil are reduced to Nitrogen
by the bacteria

1) Thiobacillus

1) Nitrosomonas

111)  Pseudomonas

iv)  Nitrobacter
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“Hologamy™ can be seen in

Monocystis

.5 Plasmodium
3 Trichonympha
4. Paramecium
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The scientific name of crow in Sri Lanka
1. Corvus splendens protegatiis

2. Corvus splendens insolens

ad

Corvus splendens splendeas
4. Cervus elaphus hanglu
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Lecture method 1s followed by
L. Pragmatists

2; Naturalists

Idealists

Realists
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A teacher wants to teach the topic ‘Conservation of natural
resources’ through Problem Solving method. The first step is

L Collecting information about conservation of natural
TESOUICES.
2. Evaluating the measures taken for conservation of

natural resources.

Tl

Identifying the reasons for misuse of natural resources.
4. Taking remedial measures.
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‘Learning by doing’ 1s not possible in this method

1 Heuristic

2 Problem solving

3. Project

4, Lecture cum demonstration
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Henry Edward Armstrong formulated this method

L. Project

2. Laboratory method

3, Heuristic method

4. Lecture demonstration method
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One of the following is an example for a club of special
interest.

1. Physics club

2. Astronomy club

3. Chemistry club

4. Biology club
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National level science exhibition is also named as
1. Mahatma Gandhi Science Exhibition
2 Indira Gandhi Science Exhibition

Jawaharlal Nehru National Science. Mathematics and
Environment Exhibition for Children

4, Vikram Sarabhai National Children’s Science Exhibition
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Statement that shows the nature of Science
1 Science Knowledge is absolute

2, Science relies on personal opinions

fad

Science i1s unchangeable
4, Science is inferential and imaginative
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This can be considered as Formative Evaluation

L Unit tests

2. Annual exams

3. Entrance exams

4. Competitive exams
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Ramu scored 70% marks in a test. He scored 80% marks in the
same test, when it 1s corrected by another teacher. The test
paper does not have

1. Validity

2 Reliability

3. Practicability

4. Discriminative power
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Projective techniques are used to assess

i Knowledge

2. Social behaviour

3 Personality

4, Intelligence
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After learning a lesson. student ‘M’ repeated the cell structure
exactly as given in the textbook. Student ‘P” explained the
difference between animal and plant cell in detail. The
objectives achieved by them.

1. M - Understanding. P - Knowledge

2. M - Knowledge. P - Understanding

3. M - Understanding. P - Understanding

4. M - Knowledge. P - Knowledge
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One of the following is not a teaching objective of Science
1. Understand

2 Manipulation

¥ Appreciation

4. Personality
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The specific behaviour of identifying errors in a given content
shows the achievement of the objective

1. Knowledge

2 Understanding
3. Application
4. Attitude
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This 1s NOT a core value of competencies in a Science teacher
l. Integrity
71 Professionalism

3. Respect for diversity

4. Creativity
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The elements which effect the reliability of the test paper.

1. objectivity in scoring. allotment of marks. length of the
test.
2 length of the test, objectivity in scoring. clarity of

istructions in the test paper

(S

allotment of more marks. limited time. objective type
questions

4. essay type questions, test length, allotment of less
marks
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In the process of evaluation. it is an example for quantitative
technique which 1s more formal and gives numerical scores

s Achievement test

2. Interest inventory

3. Personality test

4. Projective technique
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A student’s height is 4 feet. He 1s the shortest of all i the
class. He should sit in the front bench of the class. The
sequential order here

1. Measurement, Evaluation. Assessment
2, Measurement, Assessment, Evaluation
3. Measurement, Testing. Evaluation

4. Testing. Evaluation. Assessment
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First important factor of an Assessment frame
1. Tools - Techniques of Assessment

.4 Learning indicators

T

Purpose of Assessment
4. Recording and Reporting
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Curriculum is a tool in the hands of the artist (teacher) fo
mould his material (student) according to certain ideals (Aims)
in his studio. Who defined curriculum as above.

i Spears

2. Cunnigham
3 Gow & Gow
4. Murray
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The principle of Biology curriculum that gives importance to
individual difference among student’s

1. Principle of Utility

2, Principle of Readiness

3. Principle of Conservation

4, Principle of Flexibility and Diversity
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Technical & difficult words are given their meanings and
explanation in this part of a textbook.

¥ Summary

Z; Sub headings

3. Handbook

4, Glossary
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To explain ‘Osmosis’ in plants. Biology should be correlated
with this subject

1. Physical Chemistry
2 Mathematics
3. Anatomy

4, Geography
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Science kits as miniature laboratories 1s developed by

1. NCERT
2. SCERT
& Central Scientific Institute Organization

4, Indian Standard Institution
D) EBrieoer ISR DBLoD ErFoBodST

L NCERT
2, SCERT
3. oS DotddE Eqsagénrség &3?’@5‘&5
4. 30500 i‘é:ﬂ&ig agicgaé.lrgqu
Options :
1.¥1
2. % 2
3.% 3
4.% 4

Question Number : 144 Question Id : 3922666064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A science teacher purchased glass beakers for the laboratory.
After register them in the Accession register they should be
registered again in this register.

Register for breakable articles

1
2 Register for unbreakable articles

(ad

Consumable stock register

4, Issue register
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‘Brasso’ 1s used to clean the articles made of

1. Iron

2 Wooden
3. Glass

4, Bronze
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One of the following books has the details about Improvised
Aids

(Bergimch SESFHEere Jsoren B (308 PREOS” &I
1. UNESCO source book for Science Teaching

2. Science Teaching Reconsidered
3. E-learning and the Science of Instructions
4, How people Learn: Brain. Mind. Experiences and School
Options :
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After achieving academic standards of appreciation. aesthetic
sense and values the student

1, Appreciates the inter relation among organisms.
ii. Overlook the evolution of life.

iii.  Develops values as a part of his personality.

iv.  Appreciates contributions of the scientists.
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The academic standard in which pupils develop ability to
predict the results

;8 Asking questions. making hypothesis
2. Experimentation, field investigation
3. Information skills, Projects

4. Conceptual understanding
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Formation of mental images are seen in this academic standard

s Information skills. Projects
2, Experiment and Field Investigation
3. Asking Questioning and Hypothesis

4. Conceptual Understanding
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One of the following is an example for Intellectual Value

i Ability to judge impartially

2. Truth means impartiality towards explorations of facts
3. Interest in gardening
4. Sincerity in working
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One of the following 1s related to syntactic structure of
Science.

1: Classification
2. Fact
3. Theory

4. Principle
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The main aim of YUVA programme

1. Promoting Science to youth

2. Providing educational facilities to Young and students
3 To provide online courses for unemployees

4. Conduct Prevention of AIDS programmes
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The objective of Blue club.
L. Entrepreneurship in aquaculture
2, Environmental protection in urban areas

Awareness of rights of women in weaker section

T4l

4. Economic support for the weaker section children
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“The pea seed has two cotyledons.’. This is a

L. Fact

2. Theory
3. Principle
4. Law
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The scientist who dissected animals to study internal organs

I Bacon
Z Galen
3. Aristotle

4, Theofrostus
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The meaning of the word “Scientia’

1. Learning

2 Knowledge

3. Intelligence

4. Nature
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In western countries, development of science started with this
civilization

1. Greek
2. Egypt
3. Roman

4. Babilonia
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The structure of Science i1s compared to “a building under
construction” by

1. Schwab and P.H. Phenix

i 4 Henri Poincare & R.C. Sharma
3. Henri Poincare & James B. Conant
4, American Association for the Advancement of Sciences
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Book “The living and non-living” was written by
L M.S. Swaminathan

2. Birbal Sahni

3. Yellapragad. Subba Rao

4. Sir J. C. Bose
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“Aim 1s an mstrument that measures our success or failure” 1s
said by

1. NEP - 1986
F. 4 Kothari

3. John Dewey

4. Kilpatrick
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